ARBETSBLAD 62 MATEMATIK 0 Beta

Vikt - enhetsvaxlingar (l)
1 1kg5hg= kg
2 27hg= kg
3 2kglhg= kg
4 300g= hg
5 1hg70g= hg
6 1500g= kg
7 370g= hg
8 70g= hg
9 4hg= kg
10 3kg500g= kg
11 35hg= kg
12 7000 kg = ton
13 2500 kg = ton
14 670g= hg
15 7hg= kg
16 2hg5g= hg
17 900 kg = ton
18 500 g = kg
19 7kg2hg= kg
20 675g= kg
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ARBETSBLAD 62 MATEMATIK 0 Beta

Vikt - enhetsvaxlingar (l)

FACIT

1 1,5kg
2 2,7kg
3 2,1kg
4 3hg
5 1,7hg
6 1,5kg
7 3,7hg
8 0,7hg
9 04kg
10 3,5kg
11 3,5kg
12 7 ton
13 2,5ton
14 6,7 hg
15 0,7 kg
16 2,05hg
17 0,9 ton
18 0,5kg
19 7,2kg

20 0,675kg
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